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QUESTION 1

Which tool would help you to verify an installation of an ONTAP cluster? 

A. NetAppDocs 

B. OnCommand Insight 

C. Config Advisor 

D. OnCommand Unified Manager 

Correct Answer: C 

 

QUESTION 2

You have just installed a new FAS2650 HA for your customer. You are now configuring the NetApp AutoSupport
transport section. 

In this scenario, what is the NetApp best practice for this task to allow AutoSupport on Demand (ASOD)? 

A. Use SMTP. 

B. Use HTTPS. 

C. Use HTTP. 

D. Use SSH. 

Correct Answer: B 

 

QUESTION 3
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You install a new FAS2650 HA with a DS224C disk shelf and ONTAP 9.5 on a customer site. Referring to the exhibit,
which steps are required to get an HA cabled system? 

A. 1. Insert a cable from right controller port 0a to IOMB port 2, and from port 0b to IOMA port 4. 

2. 

Insert a cable from left controller port 0a to IOMA port 2, and from port 0b to IOMB port 4. 

3. 

Cable the out-of-band ACP. 

B. 1. Insert a cable from right controller port 0a to IOMA port 1, and from port 0b to IOMB port 3. 

2. Insert a cable from left controller port 0a to IOMB port 1, and from port 0b to IOMA port 3. 

C. 1. Insert a cable from right controller port 0a to IOMB port 1, and from port 0b to IOMA port 4. 

2. 

Insert a cable from left controller port 0a to IOMA port 1, and from port 0b to IOMB port 4. 

3. 

Cable the out-of-band ACP. 

D. 1. Insert a cable from right controller port 0a to IOMB port 2, and from port 0b to IOMA port 3. 

2. Insert a cable from left controller port 0a to IOMA port 2, and from port 0b to IOMB port 3. 

Correct Answer: C 

 

QUESTION 4
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You create a LIF called svm_cifs_lif01 on a port that is already in an up state. After you test the storage failover, the LIF
does not automatically revert to its home port. 

In this scenario, what should you do to solve the problem? 

A. Configure a new failover group. 

B. Configure the LIF with the DHCP option. 

C. Add the port in a broadcast domain. 

D. Configure the LIF with the automatic revert option. 

Correct Answer: D 

 

QUESTION 5

Starting with ONTAP 9.5, what is the maximum number of HA pairs that are supported when using a SAN cluster? 

A. 4 

B. 2 

C. 6 

D. 8 

Correct Answer: A 

 

QUESTION 6

You are deploying a cluster with four AFF A300 nodes and Cisco 3232C switches. When you arrive at the customer\\'s
site, you notice that there are multiple breakout cables and four Cisco 3232C switches. 

In this scenario, which statement is true? 

A. A 4-node AFF A300 cluster requires four Cisco 3232C switches. 

B. Cisco best practices require four Cisco 3232C switches for high availability. 

C. A 4-node AFF A300 cluster requires two Cisco 3232C switches for the cluster interconnect and two for management. 

D. Your customer ordered a MetroCluster IP configuration. 

Correct Answer: C 

 

QUESTION 7

You are asked to complete a basic installation of a 4-node cluster using ONTAP 9.5. The customer requests that you
build an SVM to confirm that CIFS?SMB is functional on he cluster. 
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What would be a consideration to compete this task? 

A. A basic installation does not include testing data protocols. 

B. Name the items built for testing so it is known that these items are not in production. 

C. Direct the customer to the Express Guides so they can complete the task after you leave. 

D. Direct the customer to the Communities site so they can complete the task after you leave. 

Correct Answer: C 

 

QUESTION 8

You just installed two nodes into an existing ONTAP cluster. When running date on the CLI you notice that 

the cluster1-03 node is running behind time. You confirmed that you can reach the node management LIF 

of each node. 

Referring to the exhibit, which statement is true? 

A. The node-management LIF has to be on e0M for NTP to work. 

B. The DNS is not configured for this node. 

C. The NTP is adjusting in small increments. 

D. No NTP server is configured for this node. 

Correct Answer: B 
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QUESTION 9

A customer has a stack of shelves with both DS4243 shelves and DS4246 shelves. The customer wants to replace the
DS4243 shelves with new DS4246 shelves. 

What would you advise the customer in this scenario? 

A. Convert the ACP communication from out-of-band to in-band channel. 

B. Remove the ACP cabling from the stack before adding the new shelves. 

C. Remove the DS4243 shelves, but you must add the new DS4246 shelves to a new stack. 

D. Configure the shelf IDs of the new DS4246 shelves to match the existing DS4246 shelves. 

Correct Answer: C 

 

QUESTION 10

Select the Exhibit tab. 
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You finished the installation of a new FAS8200 system. The customer wants to use FC and 10G Ethernet but only has
the onboard UTA2 ports available. 

Referring to the exhibit, which two sets of ports would the customer use? (Choose two.) 

A. e0e, 0f and e0g, 0h 

B. 0e, 0f and e0g, e0h 

C. 0e, e0f and 0g, e0h 

D. e0e, e0f and 0g, 0h 

Correct Answer: AD 

 

QUESTION 11

While preparing for a new cluster installation, your customer indicates that they have some disk shelves and switches
that were discontinued at their old site. They want to re-use as much of this equipment as possible. You must verify that
their discontinued equipment is compatible with the new equipment they have on order. 

Which two actions will accomplish this task? (Choose two.) 

A. Use the Hardware Universe portal (HWU). 

B. look up the compatibility in the Interoperability Matrix Tool (IMT). 

C. Verify compatibility from Activity IQ. 

D. Run the Cluster Configuration Builder tool (ConfigBuilder). 

Correct Answer: B 

 

QUESTION 12

Your customer has a new FAS2650 HA cluster with ONTAP 9.5 installed. The cluster is connected to two CN1610
switches. 

Which two statements describe this installation? (Choose two.) 

A. This is a multiple-node installation. 

B. This is a single-node installation. 

C. The cluster interconnect is in a switched configuration. 

D. The cluster interconnect is in a switchless configuration. 

Correct Answer: BC 

 

QUESTION 13
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When planning the installation of a new ONTAP 9.5 cluster for a customer, which three steps should you perform?
(Choose three.) 

A. Complete a Service Event Report. 

B. Use Config Builder to create a configuration spreadsheet. 

C. Review the hardware components in Hardware Universe. 

D. Open a support case to prepare for the installation. 

E. Search for Technical Support bulletins for the hardware. 

Correct Answer: ABC 

 

QUESTION 14

Which two default broadcast domains does the system create during cluster initialization? (Choose two.) 

A. Default 

B. Cluster 

C. Management 

D. Node 

Correct Answer: AB 

 

QUESTION 15

What are two reason why automatic giveback fails? (Choose two.) 

A. SAN sessions are established. 

B. Storage failover is disabled. 

C. NFS sessions are established. 

D. The disk shelf is too hot. 

Correct Answer: BD 
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